Roll No. 245127162

RESULT-cum-DETAILED MARKS CARD

24-DEO-4346 Regn. No.

#### CERTIFICATE PROGRAMME IN FRENCH EXAM: APR- 2025 (CBCS-CDOE)

Name : URVASHI : KALI CHARAN Father's Name

: MANJU Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CPF-101 COMMUNICATIVE GRAMMAR	19 1	20AG	050	Р	4	02.0	8.0
2	CPF-102 TEXT COMPREHENSION & WRITTEN EXPRESSION	19 1	20AG	050	Р	4	02.0	8.0
	TOTAL	0040		0100			4.0	016.0
	GRAND TOTAL	0040		0100			4.0	16.0

PASSED AND HAS OBTAINED: SGPA 4.00 RESULT:

DATED :	JUL 14,2025	
KURUKSHE	TERA	

Checked by 1.

(Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue

Roll No. 245127163

24-DEO-4347 Regn. No. RESULT-cum-DETAILED MARKS CARD

### CERTIFICATE PROGRAMME IN FRENCH EXAM: APR- 2025 (CBCS-CDOE)

Name : AARTI JAIN

: PAWAN KUMAR JAIN Father's Name

: USHA JAIN Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	0.00.0	Credit Obtained
1	CPF-101 COMMUNICATIVE GRAMMAR	21 14	20AG	050	А	8	02.0	16.0
2	CPF-102 TEXT COMPREHENSION & WRITTEN EXPRESSION	21 14	20AG	050	А	8	02.0	16.0
	TOTAL	0070		0100			4.0	032.0
	GRAND TOTAL	0070		0100			4.0	32.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.00

DATED	:	JUL	14,2025	

KURUKSHETERA

Data of issue

Checked by 1.

Roll No. 245127166

RESULT-cum-DETAILED MARKS CARD Regn. No. 24-DEO-4350

## CERTIFICATE PROGRAMME IN FRENCH EXAM : APR- 2025 (CBCS-CDOE)

Name : KAISHY

Father's Name : SUSHIL KUMAR Mother's Name : MANJU DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CPF-101 COMMUNICATIVE GRAMMAR	22 11	20AG	050	А	8	02.0	16.0
2	CPF-102 TEXT COMPREHENSION & WRITTEN EXPRESSION	22 11	20AG	050	А	8	02.0	16.0
	TOTAL	0066		0100			4.0	032.0
	GRAND TOTAL	0066		0100			4.0	32.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.00

		((	Clerk)		(Assistant)	)
Checked by	1.			2		
KURUKSHET	ERA					
DATED :	JUL 14,2	2025				

Data of issue

Banne

Roll No. 245127168

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4352

### CERTIFICATE PROGRAMME IN FRENCH EXAM : APR- 2025 (CBCS-CDOE)

Name : AARZOO SAINI
Father's Name : BALDEV SINGH
Mother's Name : POONAM SAINI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CPF-101 COMMUNICATIVE GRAMMAR	24 10	20AG	050	А	8	02.0	16.0
2	CPF-102 TEXT COMPREHENSION & WRITTEN EXPRESSION	24 10	20AG	050	А	8	02.0	16.0
	TOTAL	0068		0100			4.0	032.0
	GRAND TOTAL	0068		0100			4.0	32.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.00

		(Clerk	)	(Assistant	t)
Checked by	1		2.		
KURUKSHET	ERA				
DATED:	JUL 14,20	)25			

Data of issue

Banne

Roll No. 245127170

RESULT-cum-DETAILED MARKS CARD Regn. No. 24-DEO-4353

### CERTIFICATE PROGRAMME IN FRENCH EXAM : APR- 2025 (CBCS-CDOE)

Name : PRIYANKA RAJENDRA THAKUR

Father's Name : RAJENDRA Mother's Name : SEEMA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CPF-101 COMMUNICATIVE GRAMMAR	24 12	20AG	050	Α	8	02.0	16.0
2	CPF-102 TEXT COMPREHENSION & WRITTEN EXPRESSION	24 12	20AG	050	А	8	02.0	16.0
	TOTAL	0072		0100			4.0	032.0
	GRAND TOTAL	0072		0100			4.0	32.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.00

DATED :	JUL 14,2025		
KURUKSHE	TERA		

Checked by 1.

(Clerk) (Assistant)

Bann

CONTROLLER OF EXAMINATIONS

Data of issue

Roll No. 245127171

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4354

### CERTIFICATE PROGRAMME IN FRENCH EXAM : APR- 2025 (CBCS-CDOE)

Name : SIMRANDEEP KAUR
Father's Name : KARAMJEET SINGH
Mother's Name : GURVINDER KAUR

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CPF-101 COMMUNICATIVE GRAMMAR	13 10	20AG	050	С	5	02.0	10.0
2	CPF-102 TEXT COMPREHENSION & WRITTEN EXPRESSION	13 10	20AG	050	С	5	02.0	10.0
	TOTAL	0046		0100			4.0	020.0
	GRAND TOTAL	0046		0100			4.0	20.0

RESULT: PASSED AND HAS OBTAINED: SGPA 5.00

			(Clerk)		(Assistant)	
Checked by	1.			2.		
KURUKSHET	ERA					
DATED :	JUL 14,2	2025				

Data of issue

Bann

Roll No. 245127172

24-DEO-4355 Regn. No.

#### RESULT-cum-DETAILED MARKS CARD

#### CERTIFICATE PROGRAMME IN FRENCH EXAM: APR- 2025 (CBCS-CDOE)

Name : SOHALI

: RAJ KUMAR JOSHI Father's Name : POOJA JOSHI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CPF-101 COMMUNICATIVE GRAMMAR	17 11	20AG	050	B+	7	02.0	14.0
2	CPF-102 TEXT COMPREHENSION & WRITTEN EXPRESSION	17 11	20AG	050	B+	7	02.0	14.0
	TOTAL	0056		0100			4.0	028.0
	GRAND TOTAL	0056		0100			4.0	28.0

PASSED AND HAS OBTAINED: SGPA 7.00 RESULT:

DATED:	JUL	14,2025

KURUKSHETERA

Checked by 1.

Regn. No.

Roll No. 245127176

24-DEO-4358

RESULT-cum-DETAILED MARKS CARD

CERTIFICATE PROGRAMME IN FRENCH EXAM : APR- 2025 (CBCS-CDOE)

Name : PRIYANKA MITTAL
Father's Name : RAM NARAYAN GARG

Mother's Name : BELA GARG

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CPF-101 COMMUNICATIVE GRAMMAR	22 14	20AG	050	А	8	02.0	16.0
2	CPF-102 TEXT COMPREHENSION & WRITTEN EXPRESSION	22 14	20AG	050	А	8	02.0	16.0
	TOTAL	0072		0100			4.0	032.0
	GRAND TOTAL	0072		0100			4.0	32.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.00

DATED :	JUL 14,2025				
KURUKSHE <sup>-</sup>	ΓERA				
Checked by	1		2		
		(Clerk)		(Assistant)	



CONTROLLER OF EXAMINATIONS

Data of issue				
	Data of issue			

Roll No. 245127178

24-DEO-4359 Regn. No. RESULT-cum-DETAILED MARKS CARD

### CERTIFICATE PROGRAMME IN FRENCH EXAM: APR- 2025 (CBCS-CDOE)

Name : VINIT

: NARENDER KUMAR Father's Name

: MANJU RANI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks		Grade Letter	Grade Points	0.00.0	Credit Obtained
1	CPF-101 COMMUNICATIVE GRAMMAR	20 12	20AG	050	B+	7	02.0	14.0
2	CPF-102 TEXT COMPREHENSION & WRITTEN EXPRESSION	20 12	20AG	050	B+	7	02.0	14.0
	TOTAL	0064		0100			4.0	028.0
	GRAND TOTAL	0064		0100			4.0	28.0

PASSED AND HAS OBTAINED: SGPA 7.00 RESULT:

DATED	:	JUL	14,2025

KURUKSHETERA

Data of issue

Checked by 1.

Roll No. 245127179

RESULT-cum-DETAILED MARKS CARD Regn. No. 24-DEO-4360

### CERTIFICATE PROGRAMME IN FRENCH EXAM : APR- 2025 (CBCS-CDOE)

Name : MUSKAN MUSKAN Father's Name : SURENDER ROR

Mother's Name : MAMTA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CPF-101 COMMUNICATIVE GRAMMAR	20 11	20AG	050	B+	7	02.0	14.0
2	CPF-102 TEXT COMPREHENSION & WRITTEN EXPRESSION	20 11	20AG	050	B+	7	02.0	14.0
	TOTAL	0062		0100			4.0	028.0
	GRAND TOTAL	0062		0100			4.0	28.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.00

		((	Clerk)		(Assistant)	)
Checked by	1.			2		
KURUKSHET	ERA					
DATED :	JUL 14,2	2025				

Banne

CONTROLLER OF EXAMINATIONS

Data of issue			
	Data of issue		

Roll No. 245127181

24-DEO-4361 Regn. No.

#### RESULT-cum-DETAILED MARKS CARD

#### CERTIFICATE PROGRAMME IN FRENCH EXAM: APR- 2025 (CBCS-CDOE)

Name : SHEETAL CHOPRA

: ON CHOPRA Father's Name : ANJNA CHOPRA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CPF-101 COMMUNICATIVE GRAMMAR	29 14	20AG	050	0	10	02.0	20.0
2	CPF-102 TEXT COMPREHENSION & WRITTEN EXPRESSION	29 14	20AG	050	0	10	02.0	20.0
	TOTAL	0086		0100			4.0	040.0
	GRAND TOTAL	0086		0100			4.0	40.0

PASSED AND HAS OBTAINED: SGPA 10.00 RESULT:

DATED: JUL 14,2025

KURUKSHETERA

Data of issue

Checked by 1.

Roll No. 245127183

24-DEO-4362 Regn. No. RESULT-cum-DETAILED MARKS CARD

### CERTIFICATE PROGRAMME IN FRENCH EXAM: APR- 2025 (CBCS-CDOE)

Name : HARMAN

: ASHOK KUMAR Father's Name : ANJALI RANI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks		Grade Letter	Grade Points	0.00.0	Credit Obtained
1	CPF-101 COMMUNICATIVE GRAMMAR	15 6	20AG	050	С	5	02.0	10.0
2	CPF-102 TEXT COMPREHENSION & WRITTEN EXPRESSION	15 6	20AG	050	С	5	02.0	10.0
	TOTAL	0042		0100			4.0	020.0
	GRAND TOTAL	0042		0100			4.0	20.0

PASSED AND HAS OBTAINED: SGPA 5.00 RESULT:

			(Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ΓERA					
DATED:	JUL 14,2	2025				

CONTROLLER OF EXAMINATIONS

Data of issue				
	Data of issue			

Roll No. 245127186

RESULT-cum-DETAILED MARKS CARD Regn. No. 24-DEO-4363

## CERTIFICATE PROGRAMME IN FRENCH EXAM : APR- 2025 (CBCS-CDOE)

Name : AASTHA

Father's Name : KISHORE KUMAR

Mother's Name : SONAL

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CPF-101 COMMUNICATIVE GRAMMAR	25 14	20AG	050	A+	9	02.0	18.0
2	CPF-102 TEXT COMPREHENSION & WRITTEN EXPRESSION	25 14	20AG	050	A+	9	02.0	18.0
	TOTAL	0078		0100			4.0	036.0
	GRAND TOTAL	0078		0100			4.0	36.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

DATED :	JUL 14,2025		
KURUKSHE	TERA		

Data of issue

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_

(Clerk) (Assistant)

Bann

Roll No. 245127189

RESULT-cum-DETAILED MARKS CARD Regn. No. 24-DEO-4364

## CERTIFICATE PROGRAMME IN FRENCH EXAM : APR- 2025 (CBCS-CDOE)

Name : PRINCE SINGH MAAN

Father's Name : ANGREJ SINGH Mother's Name : HARPREET KAUR

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	0.00.0	Credit Obtained
1	CPF-101 COMMUNICATIVE GRAMMAR	18 12	20AG	050	B+	7	02.0	14.0
2	CPF-102 TEXT COMPREHENSION & WRITTEN EXPRESSION	18 12	20AG	050	B+	7	02.0	14.0
	TOTAL	0060		0100			4.0	028.0
	GRAND TOTAL	0060		0100			4.0	28.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.00

DATED :	JUL 14,2025				
KURUKSHET	ERA				
Checked by	1.		2		
		(Clerk)		(Assistant)	

Data of issue

Banne

CONTROLLER OF	EXAMINATIONS
---------------	--------------

Roll No. 245127190

24-DEO-4365 Regn. No.

#### RESULT-cum-DETAILED MARKS CARD

#### CERTIFICATE PROGRAMME IN FRENCH EXAM: APR- 2025 (CBCS-CDOE)

Name : PANKAJ SEHGAL : RAJNISH SEHGAL Father's Name

: RAKESH KUMARI SEHGAL Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CPF-101 COMMUNICATIVE GRAMMAR	21 6	20AG	050	В	6	02.0	12.0
2	CPF-102 TEXT COMPREHENSION & WRITTEN EXPRESSION	21 6	20AG	050	В	6	02.0	12.0
	TOTAL	0054		0100			4.0	024.0
	GRAND TOTAL	0054		0100			4.0	24.0

PASSED AND HAS OBTAINED: SGPA 6.00 RESULT:

DATED :	JUL 14,2025	
KURUKSHET	ΓERA	

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 245127193

RESULT-cum-DETAILED MARKS CARD Regn. No. 24-DEO-4367

### CERTIFICATE PROGRAMME IN FRENCH EXAM: APR- 2025

(CBCS-CDOE)

Name : ARCHANA KAUSHIK Father's Name : JASMINDER SINGH

Mother's Name : ANITA RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	0.00.0	Credit Obtained
1	CPF-101 COMMUNICATIVE GRAMMAR	15 13	20AG	050	B+	7	02.0	14.0
2	CPF-102 TEXT COMPREHENSION & WRITTEN EXPRESSION	15 13	20AG	050	B+	7	02.0	14.0
	TOTAL	0056		0100			4.0	028.0
	GRAND TOTAL	0056		0100			4.0	28.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.00

DATED: J	UL 14,2025		
KURUKSHETER	<b>KA</b>		
Checked by 1		2.	

(Assistant)

Kanan

CONTROLLER OF EXAMINATIONS

Data of iccup			

(Clerk)

Roll No. 245127194

Regn. No. 24-DEO-4368

#### RESULT-cum-DETAILED MARKS CARD

# CERTIFICATE PROGRAMME IN FRENCH EXAM : APR- 2025 $(\mathsf{CBCS}\text{-}\mathsf{CDOE})$

Name : VIDITA SAINI
Father's Name : RAKESH SAINI
Mother's Name : SAROJ SAINI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CPF-101 COMMUNICATIVE GRAMMAR	21 14	20AG	050	А	8	02.0	16.0
2	CPF-102 TEXT COMPREHENSION & WRITTEN EXPRESSION	21 14	20AG	050	А	8	02.0	16.0
	TOTAL	0070		0100			4.0	032.0
	GRAND TOTAL	0070		0100			4.0	32.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.00

		(Cle	rk)	(	(Assistant)	
Checked by	1		2.			
KURUKSHET	ΓERA					
DATED :	JUL 14,20	025				

Data of issue



Roll No. 245127195

24-DEO-4369 Regn. No.

#### RESULT-cum-DETAILED MARKS CARD

#### CERTIFICATE PROGRAMME IN FRENCH EXAM: APR- 2025 (CBCS-CDOE)

Name : VIRENDER KUMAR SAINI

: RAM GOPAL SAINI Father's Name : SHANTI DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CPF-101 COMMUNICATIVE GRAMMAR	33 14	20AG	050	0	10	02.0	20.0
2	CPF-102 TEXT COMPREHENSION & WRITTEN EXPRESSION	33 14	20AG	050	0	10	02.0	20.0
	TOTAL	0094		0100			4.0	040.0
	GRAND TOTAL	0094		0100			4.0	40.0

PASSED AND HAS OBTAINED: SGPA 10.00 RESULT:

DATED: JUL 14,2025

KURUKSHETERA

Data of issue

Checked by 1.